

پانچ سوالات بخش سوم ریاضی (سوال ۷ تا ۱۳) // لطفاً بررسی شود و پاسخ درست وارد نماید شود //

پانچ سوال ۷

$$\frac{-13}{5} - \frac{17}{5} = \frac{-2}{5} = -\frac{2}{5}$$

$$\left[-2 \frac{3}{5} - 3 \frac{2}{5} \right] - 5 \frac{3}{2} = \frac{-6 \times 2}{1 \times 2} - \frac{13}{2} = \frac{-12 - 13}{2} = \frac{-25}{2}$$

$$-5 \frac{5}{5} = -5$$

$$\frac{-1}{-2} - \frac{1}{-3} + \frac{-1}{4} - \frac{-1}{-5} = \frac{1 \times 2}{2 \times 2} + \frac{1 \times 2}{3 \times 2} - \frac{1 \times 15}{4 \times 15} - \frac{1 \times 12}{5 \times 12} = \frac{30 + 20 - 15 - 12}{40} = \frac{23}{40}$$

پانچ سوال ۸

الف) $-3 \frac{1}{5} \dots 1 \frac{4}{5} = \frac{-16 \times 2}{5 \times 2} - \frac{4}{1} = \frac{-32 - 4}{1} = \frac{-36}{1}$

$$-3 \frac{1}{5} - 1 \frac{4}{5} = -3 \frac{5}{5} - 1 \frac{4}{5} = -4 \frac{9}{5} = -\frac{36}{1} = -\frac{36}{1}$$

ب) $-2 \div \left(3 - 1 \frac{3}{5} \right) = -2 \div \frac{17}{5} = -2 \times \frac{5}{17} = -\frac{10}{17}$

$$\frac{3 - \frac{3}{5} - \frac{3}{5} - \frac{3}{5}}{\frac{1}{1} - \frac{1}{1} - \frac{1}{1} - \frac{1}{1}} = \frac{17}{5}$$

ج) $15 - \left(\frac{4}{3} \dots 1 \right) = \frac{15 \times 3}{1 \times 3} - \frac{37}{3} = \frac{15 - 37}{3} = \frac{-22}{3}$

$$\frac{\frac{4}{3} - 1}{\frac{3}{3} - \frac{1}{1} - \frac{3}{3} - \frac{3}{3}} = \frac{37}{3}$$

د) $\frac{4}{5} \times \left(-1 \frac{2}{3} \right) + \frac{2}{3} \div \left(-1 \frac{5}{6} \right) = \frac{4 \times 2}{5 \times 3} + \frac{2 \times 6}{3 \times 6} - \frac{14 + 100}{60} = \frac{112}{60}$

$$\frac{\frac{4}{5} \times \frac{2}{3}}{\frac{3}{3} \times \frac{3}{3}} = \frac{8}{15}$$

$$\frac{\frac{2}{3} \times \frac{6}{6}}{\frac{3}{3} \times \frac{6}{6}} = \frac{4}{3}$$

$$3 \frac{5}{v} = +3 + \frac{5}{v} \quad - \frac{23}{4} = -2 - \frac{3}{4} \quad \text{بانغ سوال 9}$$

$$2 \frac{3}{5} \xrightarrow{\text{مساوی}} \frac{13}{5} \xrightarrow{\text{مساوی}} \frac{5}{13} \quad \text{بانغ سوال 10}$$

$$\frac{23}{5^2} = \frac{1}{25} \xrightarrow{\text{مساوی}} \frac{25}{1} \quad \left(\frac{1}{2} \right) \xrightarrow{\text{مساوی}} \frac{2}{5}$$

$$3 \frac{2}{4} = \frac{14}{4} \quad \text{بانغ سوال 11}$$

$$\frac{14}{4} - \left(- \frac{4}{14} \right) = \frac{14 \times 14}{4 \times 14} + \frac{4 \times 2}{14 \times 2} = \frac{98 + 8}{28} = \frac{106}{28} = \frac{53}{14}$$

$$\left(\frac{4}{5} - \frac{1 \times 5}{1 \times 5} \right) - \left(- \frac{2}{3} - \frac{2 \times 3}{1 \times 3} \right) = \left(\frac{4-5}{5} \right) - \left(\frac{-2-6}{3} \right) = \text{بانغ سوال 12}$$

$$= \frac{-1}{5} - \frac{-8}{3} = \frac{-1 \times 3}{5 \times 3} + \frac{8 \times 5}{3 \times 5} = \frac{-3+40}{15} = \frac{37}{15}$$

حاصل عدد : $1 + 2 + 3 + 4 + 5 + 6 + 7 + 8 + 9 + 1 = 55$ بانغ سوال 13

حاصل فرج : $2 + 4 + 6 + 8 + 1 = 21$

$$\frac{\text{عدد}}{\text{فرج}} = \frac{55}{21} = \frac{55}{21} = \left(\frac{55}{21} \right) = \frac{55 \times 1}{21 \times 1} = \frac{11}{9}$$